CIEF10_X spectral tristimulus valuesymax(A)=1

Xr10_x,10)=A11l F10_x 1A +A19ME10_x,1(0)

+A138F10_x,1(A)

2,0} Alj 1,9398 -1,3466 0,4304 A{570)
D65: 3% £10 x (\)=21,95

XF10_x, 70,3136 Y10 x £0,3311

400 500 600

wavelengthA /nm

EEQ091-1A 1



CIEF10_X spectral tristimulus valuesymax(A)=1
Xr10_x,10)=A11l F10_x,1A)*A12ME10_x,1(A)

2,01

400

+A13SF10_x,1N)
Azj 1,9398 -1,3466 0,4304 A{570)
D50: 3% 10 x 1(A)=22,14
XFlO_X,l:0’3480 yFlO_X,l:0’3594

500 600
wavelengthA /nm

EEQ091-1A 1




CIEF10_X spectral tristimulus valuesymax(A)=1

Xr10_x,10)=A11l F10_x 1A +A19ME10_x,1(0)

+A138F10_x,1(A)

2,0} Alj 1,9398 -1,3466 0,4304 A{570)
P40: IX 10, 1(N)=23,65

XF10_x, 70,3829 Yr10_x 10,3752

400 500 600

wavelengthA /nm

EEQ091-1A 1



CIEF10_X spectral tristimulus valuesymax(A)=1

Xr10_x,10)=A11l F10_x 1A +A19ME10_x,1(0)

+A138F10_x,1(A)

2,0} Alj 1,9398 -1,3466 0,4304 A{570)
A00: 5% £19 x 1(N)=26,62

XF10_x,170,4528 Yr10_x,1=0,4051

400 500 600

wavelengthA /nm

EEQ091-1A 1



CIEF10_X spectral tristimulus valuesymax(A)=1

Xr10_x,10)=A11l F10_x 1A +A19ME10_x,1(0)

+A138F10_x,1(A)

2,0} Alj 1,9398 -1,3466 0,4304 A{570)
E00: 3% p10 x 1(\)=23,71

XF10_x, 70,3331 Yp10_x 10,3331

400 500 600

wavelengthA /nm

EEQ091-1A 1



CIEF10_X spectral tristimulus valuesymax(A)=1

Xr10_x,10)=A11l F10_x 1A +A19ME10_x,1(0)

+A138F10_x,1(A)

2,0} Alj 1,9398 -1,3466 0,4304 A{570)
C00: 5X 1. x,1(M)=21,99

XF10_x, 50,3100 Yp1o_x 10,3190

400 500 600

wavelengthA /nm

EEQ091-1A 1



CIEF10_X spectral tristimulus valuesymax(A)=1

Xr10_x,10)=A11l F10_x 1A +A19ME10_x,1(0)

+A138F10_x,1(A)

2,0} Alj 1,9398 -1,3466 0,4304 A{570)
PO0: 3% £10 x 1(\)=24,26

XF10_x, 50,3611 Yp1g_x 10,3521

400 500 600

wavelengthA /nm

EEQ091-1A 1



CIEF10_X spectral tristimulus valuesymax(A)=1

Xr10_x,10)=A11l F10_x 1A +A19ME10_x,1(0)

+A138F10_x,1(A)

2,0} Alj 1,9398 -1,3466 0,4304 A{570)
QO0: 3% p10 x 1(N)=23,52

XF10_x, 50,3062 Yr10_x 10,3115

400 500 600

wavelengthA /nm

EEQ091-1A 1



